
à. ÁdmarMo d¡km{ZH$ Zmd ------ Amho.

~m°g Q> m°ag {h{~ñH$ g amoPm gm¶Zo{gg

gm°K©‘ ìhbJoa H°$ {Zg ’°$ {‘ë¶[ag

à. ------- hm OmJ{VH$ ~oSw> H$ g§ajU {Xdg Amho.

E{àb E{n«b

OmZodmar OwZ

à. ------- nU©nÌ g‘m§Va {eam{dÝ¶mg AgUmao AgVo.

1

1. 2.

3. 4.

2

1. 2.

4.

3

Scientific name of the Jowar is -------

[Bos Taurus] [Hibiscus Rosa sinesis]

[Sorghum bicolor] [Canis lapus familiries]

--------- is observed as a world frog protection day.

[29 April] [7 April]

[30 January] [30 June]

------------- leaf blade has parallel venation.

29 7

30 30

[Peepal] [Maize]

[Neem] [Mango]

Atmospheric pressure is the -------------- in all the direction.

[Greater] [Less]

[Same] [None of these]

th th th th

th th th th
3.

1. 2.

4.

4

1. 2.

3. 4.
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100

1

{dÚmÏ¶mªZm gyMZm …-

XmoZ JwU

{ZJo{Q> ìh JwU nÜXVr bmJy Zmhr.

1.

2.

3.

4.

5.

6.

1.

1. 2. 3. 4.

1. 2. 3. 4.

7.

8.

CËVao doJù¶m CËVan{ÌHo$ da {bhmd¶mMr AmhoV.
gXa àíZn{ÌHo$ V àíZ A{Zdm¶© AmhoV. àË¶oH$ AMyH$ CËVamg Amho.
àË¶oH$ àíZmbm Mma n¶m©¶r CËVao gwM{dbr AmhoV. Ë¶mn¡H$ s ¶mo½¶ Vmo CËVamMm H«$ ‘m§H$ CËVan{ÌHo$ V N> m¶m§{H$ V H$ amdm.
Ë¶mgmR> r H$ mù¶m qH$ dm {Zù¶m emB©Mm ~m°bnoZ dmnamdm.
EH$ Xm Z‘yX Ho$ bobo CËVa ImoS> Vm ¶oUma Zmhr, Vgo Ho$ ë¶mg Vnmgbo OmUma Zmhr.
EH$ mM àíZmMo EH$ mnojm OmñV Jmob N> m¶m§{H$ V Ho$ ë¶mg Vmo àíZ Vnmgbm OmUma Zmhr.
CËVa {b{hÊ¶mMr ¶mo½¶ nÜXVr CXm.
àíZ ---------- earamVrb gdm©V ‘moR> r J«§Wr Amho.

ñdmXþqnS> Wm¶am°p³gZ ¶H¥$ V bmbmoËnmXH$ J«§Wr
CËVa …
KmB©‘wio MwH$ m hmoUma ZmhrV ¶mMr XjVm ¿¶mdr. doioMo {Z¶moOZ H$ amdo.

50
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à. H$ moUVo {dYmZ ~amo~a Amho?

gm‘mÝ¶ pñWVr‘Ü¶o g‘wÐgnmQ> rbm dmVmdaUmMm Xm~ gw‘mao Ý¶wQ> Z àVrMm¡ag ‘rQ> a BVH$ m AgVmo.

dm¶wXm~‘mnH$ mZo Vmo ‘moOVm ¶oVmo.

dmVmdaUmMm Xm~ g‘wÐgnmQ> rnmgyZ C§M OmVmZm H$ ‘r H$ ‘r hmoV OmVmo.

darb gd© ~amo~a Amho.

à. MwH$ sMo {dYmZ AmoiIm.

{MZr ‘¥Xm (Ho$ Amo{bZ) … hr ‘¥Xm H$ n~er ~Z{dÊ¶mgmR> r dmnabr OmVo.

emSy> ‘¥Xm … hr ‘¥Xm ‘yVu ~Z{dÊ¶mgmR> r dmnabr OmVo.

‘wbVmZr ‘¥Xm … hr ‘¥Xm à¶moJemioVrb CnH$ aUo ~Z{dÊ¶mgmR> r dmnabr OmVo.

Q> oamH$ moQ> m ‘¥Xm … ¶m ‘¥XonmgyZ Hw§$ S> çm, gOmdQ> rÀ¶m dñVy ~Z{dë¶m OmVmV.

à. ¶mo½¶ {dYmZ AmoiIm.

dZñnVt‘Ü¶o Obdm{hÝ¶m d agdm{hÝ¶m AgVmV.

Obdm{hÝ¶m‘m’©$ V ‘wim§H$ Sy> Z nmUr d jma dZñnVtÀ¶m darb gd© ^mJm§H$ S> o nmohmoMdbo OmVmV.

dhZ ì¶dñWm dZñnVr‘Ü¶o Agbr Var ñdV§Ì nMZg§ñWm d CËgO©Z g§ñWm ZgVo.

{dYmmZ gd© ~amo~a AmhoV.

à. nmofUmMo ¶mo½¶ Q> ßno AmoiIm.

AÝZJ«hU emofU nMZ gmË‘rH$ aU CËgO©Z

CËgO©Z emofU AÝZJ«hU nMZ gmË‘rH$ aU

AÝZJ«hU gmË‘rH$ aU nMZ emofU CËgO©Z

AÝZJ«hU nMZ emofU CËgO©Z gmË‘rH$ aU

5

1.

2.

4.

6

1.

2.

3.

4.

7

1.

2.

3.

4.

8

1.

2.

3.

4.

Which statement are correct?

[It can be measured with the help of the Barometer.]

[As we go higher above sea level atmospheric pressure decrease.]

[All the above are correct]

Identify the incorrect statement

[China clay (Kaolin) : it is used to make crockery]

[Shadu soil : it is used in making statue and ldols]

[Multani soil : it is used to make laboratory apparatus.]

[Terracotta soil : it is used in decorative article and pots used for the growing plants.]

Identify correct statement.

[Plant consist of xylem and phloem]

[Xylem transport mineral and water from the root to all aerial part of the plant.]

[Plant have transport system and they do not have a separate digestive or excretory system.]

[1, 2, 3 statement are all correct.]

Identify the correct steps in nutrition :

[ingestion absorption digestion assimilation egestion]

[ ]

101400

1, 2, 3

egestion absorption ingestion digestion assimilation

[ingestion assimilation digestion absorption egestion]

[ingestion digestion absorption egestion assimilation]

[Under ordinary condition, atmospheric pressure at sea level is about 101400 newton per square meter]

3.

u u u u

u u u u

u u u u

u u u u

u u u u

u u u u

u u u u

u u u u
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à. ‘hmamï´> mV, ------ ¶oWo H$ m§Xo d ~Q> mQ> o nXmWm©da {H$ aUr¶Z H$ aUmar g§¶§Ìo Agbobr H|$ Ðo C^mabobr AmhoV.

à. Imbrbn¡H$ s H$ moUVo g{Xe amerMo CXmhaU Amho?

à. {Xbobr AmH¥$ Vr AmoiIm.

H|$ ÐH$ V§VwH$ {UH$ m

nU©a§Y«o h[aVbdH$

à. AmH¥$ VrÀ¶m {Z[ajUmdê$ Z H$ moUVo {dYmZ ~amo~a Amho.

CîUVoMo g§H«$ ‘U àdmhm§X²dmao hmoVo ¶m {H«$ ¶og

CîUVoMo A{^gaU Ago åhUVmV.

A{^gaU Ðd d dm¶wê$ n nXmWm©‘Ü¶oM hmoD$ eH$ Vo.

A{^gaUmbm ‘mÜ¶‘mMr Amdí¶H$ Vm AgVo.

’$ ³V-

XmoÝhrhr ~amo~a

à. Ðdmbm CîUVm {Xbr H$ s Ðì¶mÀ¶m H$ Um§‘Yrb A§Va --- d Ë¶m§Mo AmH$ ma‘mZ ----- ¶mbm Ðì¶mMo àgaU hmoUo åhUVmV.

à. XþîH$ mimMr Vrd«Vm H$ ‘r H$ aÊ¶mgmR> r AmnU H$ m¶ H$ ê$ eH$ Vmo?

9

10

11

1. 2

3. 4.

12

A.

B.

1.

3.

13

14

In Maharashtra, radiation plants have been installed at -------------- for onions and potatoes.

Which of the following is an example of vector quantity?

Identify the given diagram.

[Nucleus] [Mitochondria]

[Stomata] [Chloroplast]

Which statement is correct :

[Heat is transfer by means of the current

called convection currents]

[Convection can occur in liquid and gas

substance convention need a medium.]

What can we do to reduce the severity of a famine?

1. 2. 3. 4.

1. 2.

3. 4.

.

2.

4.

1. 2.

3. 4.

A.

B.

C.

D.

1. 2.

3. 4.

Zdr ‘w§~B© dmer bmgbJm§d R> mUo

bm§~r {dñWmnZ

KZVm ê§$ Xr

’$ ³V-

XmoÝhrhr AgË¶

H$ ‘r hmoVo, dmT>Vo dmT>Vo, H$ ‘r hmoVo

H$ ‘r hmoVo, H$ ‘r hmoVo dmT>Vo, dmT>Vo

nmÊ¶mMm {Z¶moOZnyd©H$ dmna d nmÊ¶mMm nwZdm©na H$ aUo.

ñWm{ZH$ nmVirda Obg§YmaUmMo ¶mo½¶ {Z¶moOZ H$ aUo.

‘moR> çm à‘mUmV d¥j bmJdS> H$ aUo, VgoM d¥j VmoS> Wm§~dUo.

hdm‘mZmVrb ~XbmMm A§XmO KoD$ Z {Z¶moOZmV ~Xb H$ aUo.

’$ ³V XmoÝhr d

n¶m©¶ darb gd©

[Navi Mumbai] [Vashi] [Lasalgaon] [Thane]

[Length] [Displacement]

[Density] [Breadth]

A[Only-A] B [Only-B]

[Both are correct] [Both are incorrect]

When a liquid is heated the distance between its particles ---------- and its volume ---------- This is called

expansion of liquid.

[decrease , increase] [increase , decrease]

[decrease , decrease ] [increase , increase]

[Planned usage of water and reuse of water]

[Proper planning of water conservation and harvesting at the local level]

[Large scale plantation of trees and prevention of deforestation]

[Making appropriate change plan, taking into the account of the weather forecast]

A [Only -A] A B [Both -A& B]

A, B, C [Option-A, B, C] A, B, C, D [All of the above-A, B, C, D]

1

(3)
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à. Imbrb AmH¥$ Vrdê$ Z Mo Zmdo AmoiIm.

à. Imbrbn¡H$ s H$ moUË¶m à{H«$ ¶m§‘Ü¶o gwú‘OrdmMm Cn¶moJ H$ ê$ Z KoVbm OmVmo?

à. ñZm¶y§À¶m Aä¶mgemñÌmbm ------- Ago åhUVmV.

‘m¶mobm°Or OrdemñÌ

à. bhmZ AmVS>çm§~X²Xb Imbrbn¡H$ s H$ moUVo {dYmZ AgË¶ Amho?

bhmZ AmVS> o gw‘mao ghm ‘rQ> a bm§~ AgVmV.

gwê$ dmVrÀ¶m ^mJmbm A°no{S> ³g (Am§ÌnwÀN> ) hm N> moQ> m ^mJ OmoS>bobm AgVmo.

¶mV doJdoJio nmMH$ ag AÝZm‘Ü¶o {‘giVmV.

AÝZmMo ~aoMgo nMZ d emofU hmoVo.

à. ‘wbÐì¶mgmR> r g§km dmnaÊ¶mMr nÜXV ------ ¶m emñÌkmZo gwê$ Ho$ br.

{àñQ>bo> ~P}{bAg

S> o‘mo{H«$ Q>g AdmJmS´> mo

15

16

17

1. 2.

3. 4.

18

1.

2.

3.

4.

19

1. 2.

3. 4.

A, B, C, D

A: [nucleus] B : [mitochondria]

C : [vacuole] D : [free ribosomes]

A: [free ribosomes] B : [mitochondria]

C : [vacuole] D : [nucleus]

A: [free ribosomes] B : [nucleus]

C : [mitochondria] D : [vacuole]

A: [mitochondria] B : [vacuole]

C : [free ribosomes] D : [Golgi body]

[In the process like tanning of skin]

[Production of ropes]

[Strings from agave]

[All of the above]

Entomology

From the following diagram, identify the names of theA, B, C, D.

In which of the following process microbes are used :

The study of muscles is called ------------

[Myology] [Biology]

[Zoology] [ ]

Which of the statement are false about small intestine ?

[Small intestine is about 6 meter long.]

[A small part appendix is attached to it’s begining part of this.]

[Different digestive juice are mixed with the food.]

[Most of the digestion & absorption of the food takes place in it.]

The scientist --------- was the first to use the present method of using symbol for element.

[Priestley] [Berzelius]

[Democritus] [Avagadro]

1.

2.

3.

4.

1.

2.

3.

4.

H|$ ÐH$ V§VwH$ {UH$ m

[ap³VH$ m ‘w³V am¶~moPmo‘

‘w³V am¶~moPmo‘ V§VwH$ {UH$ m

[ap³VH$ m H|$ ÐH$

‘w³V am¶~moPmo‘ H|$ ÐH$

V§VwH$ {UH$ m [ap³VH$ m

V§VwH$ {UH$ m [ap³VH$ m

‘w³V am¶~moPmo‘ Jm°ëOr qnS>

H$ mVS> r H$ ‘mdUo ¶m à{H«$ ¶m‘Ü¶o

XmoarMo CËnmXZ

Km¶nmVmnmgyZ YmJo {‘i{dUo

darbn¡H$ s gd©

àmUremñÌ {H$ Q> H$ emñÌ

]

(4)
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à. n{hë¶m à{VO¡{dH$ no{Z{g{bZMm emoY H$ moUr bmdbm?

à. H$ moUVo {dYmZ ~amo~a Amho/AmhoV.

{g‘|Q> hr H$ moaS> r, gwú‘ H$ U Agbobr {hadQ> a§JmMr nyS> AgVo.

Am{U XmoÝhr ~amo~a AmhoV.

darbn¡H$ s H$ mhrhr Zmhr

à. Mo nyU© ê$ n H$ m¶ Amho?

à. ñV§^ ‘Yrb nXmW© Am{U ñV§^mVrb Ë¶m§À¶m amgm¶{ZH$ Zmdm§er Owidm.

à. nÜXVrV ËdaUmMo EH$ H$ nwT> rb n¡H$ s H$ moUVo?

à. {H$ bmoJ«°‘ dñVw‘mZmMr JmS> r gnmQ> d JwiJwirV añË¶mda BVHo$ ~b bmdë¶mda ‘rQ> a gai aofoV

Jobr, Voìhm ~bmZo {H$ Vr H$ m¶© Ho$ bo?

20

21

1.

2.

3.

4.

22

23

24

25

1. 2.

3. 4.

Who invented the first antibiotic penicillin?

Which statement is/are correct :

[Cement is a dry, greenish grey powder with the fine particles.]

[It is made from silica (sand) alumina, iron oxide and magnesia]

What is the full form of the ONGC?

Match the substance in column ‘A’with their chemical names in column ‘B’

The SI unit of acceleration is -----------

A car of mass 20 kg moves in a straight line for 50 m when a force of 2N long is applied on a flat and

smooth road, How much work is done by the force?

1000 J 2000 J

200 J 100 J

1. 2.

3. 4.

1.

2.

3.

4.

.

.

.

.

1. 2.

3. 4.

1. 2.

3. 4.

Abo³Pm§S> a âboq‘J> am°~Q> © hþH$

OmoZmg gmëH$ ES> dS> © OoÝZa

{g‘|Q> ho {g{bH$ m (dmiy), A°ë¶w{‘Zm, Am¶Z© Am°³gmB©S> d ‘°½Zo{e¶m ¶m§À¶m nmgyZ V¶ma H$ aVmV.

‘rR> - ) gmo{S>A‘ S> m¶S´> m°³gmBS>

H$ m°pñQ> H$ gmoS> m - ) gmo{S>A‘ ³bmoamBS>

ImÊ¶mMm gmoS> m - ) H°$ pëeA‘ H$ m~m}ZoQ>

MwZIS> r> - ) gmo{S>A‘ ~m¶H$ m~m}ZoQ>

[Alexander Fleming] [Robert Hook]

[Jonas Salk] [Edward Jenner]

1 2

[Both 1 and 2 are correct]

[None of the above]

ONGC

Oil and Natural Gas Corporation

Oil and Natural Gas Company

Oil and Natural Gas Compressed

Oil and Nature Gaseous Company

‘A’ ‘B’

‘A’ ‘B’

a [salt] i [Sodium hydroxide]

b [Caustic soda] ii [Sodium chloride]

c [Baking soda] iii [Calcium carbonate]

d [Limestone] iv [Sodium bicarbonate]

a - i , b - ii , c - iii , d - iv a - ii , b - i , c - iv , d - iii

a - i , b - iii , c - ii , d - iv a - ii , b - iv , c - iii , d - i

SI

N/m m/s

Cm/s dyne/s

20 2N 50

2 2

2 2

(5)
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à. Imbrb {dYmZ H$ miOrnyd©H$ dmMm Am{U ¶mo½¶ n¶m©¶ {ZdS> m.

MyH$ d ~amo~a ~amo~a d ~amo~a

Am{U XmoÝhr MyH$ > ~amo~a Am{U MyH$

à.

VmaH$ mg‘yh, J«h, gw¶©

à. {dYmZ H$ miOrnyd©H$ dmMm.

MyH$ d ~amo~a d MyH$

~amo~a d ~amo~a ~amo~a d MyH$

à. Imbrb AmH¥$ Vrdê$ Z, aUOrVMm emioV OmÊ¶mMr Mmb H$ mT> m?

à.

26

1. 2.

3. 4.

27

1.

28

1. 2.

3. 4.

29

30

Read the following statement carefully and select the correct option.

[S1 false and S2 true] [S1 true S2 true]

[S1 and S2 false] [S1 true and S2 false]

[Constellation, Planets, Sun]

Read the statement carefully :

[S1 false and S2 trure] [S1 and S2 false]

[S1 true and S2 true] [S1 true and S2 false]

S1 :

[S1 : ]

S2 :

[S2 : The intensity of a magnetic field is low where the lines of force are sparse, and the intensity is high

where the line of force are concentrated.]

S1 S2 S1 S2

S1 S2 S1 S2

Our solar family consist of the following celestial bodies.

[Satellite, Planets, Pole star]

[Sun, Planets, Satellite,Asteroids, Meteorites]

[Planets, Satellite,Asteroids, Saptarshi]

S1 :

[S1 : The third mission in the chandrayaan programme is a series of lunar exploration missions

developed by the ISRO]

S2

[S2 : The mission consist of vikram lander and pragyan rover]

S1 S2 S1 S2

S1 S2 S1 S2

16.66 [16.66 m/sec.] 1 [1 meter/sec.]

60 [60 meter/sec.] [None of the above]

AB 10 km 10 BC 10 km 20 CD 20 km

30 AB

10 [10 km/hr] 1 [1 km/hr]

60 [60 km/hr] 40 [40 km/hr]

Mw§~H$ m^modVrÀ¶m Á¶m ^mJmV dñVwda Mw§~H$ s¶ ~b H$ m¶© H$ aVo Ë¶mg Mw§~H$ s¶ joÌ åhUVmV.

Mw§~H$ mÀ¶m Mw§~H$ s¶ joÌm‘Ü¶o OoWo ~baofm {dai AgVrb, VoWo Ë¶m EH$ dQ>boë¶m AgVmV, VoWrb Vrd«Vm OmñV AgVo.

Amnë¶m gm¡a Hw$ Qy> §~mV Imbrb Ijmobr¶ qnS> mMm g‘mdoe Amho.

CnJ«h, J«h, Yw«dVmam

gw¶©, J«h, CnJ«h, bKwJ«h, CëH$ m$

J«h, CnJ«h, bKwJ«h, gßVfu

Mm§Ð¶mZ H$ m¶©H«$ ‘mVrb {Vgar ‘mo{h‘ hr BñÌmoZo {dH$ {gV Ho$ bobr M§Ð g§emoYZmMr ‘m{bH$ m Amho.

{‘eZ‘Ü¶o {dH«$ ‘ b°S> a Am{U àkmZ amoìha ¶m§Mm g‘mdoe hmoVmo.

‘rQ> a/goH§$ X ‘rQ> a/goH§$ X

‘rQ> a/goH§$ X darbn¡H$ s Zmhr

Oa Q´> H$ Zo ho A§Va {‘{ZQ> m§V, ho A§Va {‘{ZQ> mV d ho

A§Va {‘{ZQ> mV nma Ho$ bo Agob Va A§VamMm à{VVmg doJ {H$ Vr Agob?

{H$ ‘r/Vmg {H$ ‘r/Vmg

{H$ ‘r/Vmg {H$ ‘r/Vmg

The region around a magnet where field the magnetic force act on an objects is called magnetic field.

2.

3.

4.

1. 2.

3. 4.

1. 2.

3. 4.

Find out Ranjit’s speed, when he goes to school as shown in figure.

If the truck travels the 10 km distance AB in 10 minutes, BC in 20 minutes and CD is 30 minutes then

find out the velocity for the distanceAB in km/hr.

(6)
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For Q. 31 to 34-

For Q. 38 to 40

{Xboë¶m n¶m©¶m§VyZ àíZ{MÝhmÀ¶m OmJr ¶mo½¶ n¶m©¶ {ZdS> m.

à.

à.

à.

à.

à. ~mOyÀ¶m AmH¥$ VrV {H$ Vr AY©ddVw©io AmhoV?

à. ¶m àíZmVrb àíZ AmH¥$ VrMr AmaemVrb à{V‘m H$ er {Xgob Vo n¶m©¶r CËVa AmH¥$ Vr‘YyZ {ZpíMV H$ am.

àíZ AmH¥$ Vr CËVa AmH¥$ Ë¶m

à. ¶m àíZmVrb nmÊ¶mVrb à{Vq~~ H$ go {Xgob Vo n¶m©¶r CËVa AmH¥$ Vr‘YyZ {ZpíMV H$ am.

àíZ AmH¥$ Vr CËVa AmH¥$ Ë¶m

nwT> o {Xboë¶m Mma VH©$ g§JV AmH¥$ Ë¶m§Mo ZrQ> narjU H$ am d Ë¶mImbr {Xboë¶m àíZmVrb VrZ dJm©Mo ZmVo ¶mo½¶ [aVrZo

XmI{dUmè¶m AmH¥$ VrMm AMyH$ n¶m©¶ {ZdS> m.

à. njr , H$ ~wVa , nmonQ >

à. ‘hmamï´> , H$ Zm©Q> H$ , Ah‘XZJa

à. nyU© g§»¶m , g‘ g§»¶m , {df‘ g§»¶m

à. Oa EH$ m gm§Ho$ {VH$ ^mfoV hm eãX , hm eãX Am{U

hm eãX Agm {b{hbm OmVmo Va hm eãX H$ gm {b{hbm OmB©b?

Find the missing term from the given alternatives.

24 25 125 124

24 25 125 124

5 , 19 , 61 , 187 , ?

289 398 491 565

3 , 7 , 23 , 95 , ?

225 365 479 595

How many semicircles are there in the given figure?

8 12

Find out the mirror image of each of the following question figure from the given alternatives.

Find out the water image of each of the following question figures.

From the four logical diagrams gives below select the one which best illustrates the relationship

among the three given classes.

[Birds] [Pigenon] [Parrot]

[Maharashtra] [Karnataka] [Ahemednagar]

[Whole Numbers] [Even Numbers] [Odd Numbers]

‘STOP’ ‘SPOT’ ‘BOLT’ ‘BTLO’

‘SIDE’ ‘SEDI’ ‘LEAP’

In a code ‘STOP’ is ‘SPOT’ , ‘BOLT’ is ‘BTLO’and ‘SIDE’ is ‘SEDI’ , then what is ‘LEAP’ in the code?

LPAE LAPE LPEA LEPA

31

1. 2. 3. 4.

32

1. 2. 3. 4.

33

1. 2. 3. 4.

34

1. 2. 3. 4.

35

1. 2.

3. 4.

36

1. 2. 3. 4.

37

1. 2. 3. 4.

1. 2. 3. 4.

38

39

40

41

1. 2. 3. 4.

16 10
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?
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For Q. 42 & 43

For Q. 45 to 47

For Q. 49 & 50

Imbrb àíZm‘Ü¶o àíZ{MÝhmÀ¶m OmJr {Xboë¶m n¶m©¶mVyZ ¶mo½¶ n¶m©¶ {ZdS> m.

à.

à.

à. Oa åhUOo � , åhUOo � , åhUOo + Am{U åhUOo - Va Mr qH$ ‘V {H$ Vr?

� �

Imbr {Xboë¶m AmH¥$ VrV EH$ m dJm©V {MÌH$ boV nma§JV {dÚmWu dVw©imZo, Jm¶Z ¶oUmao {dÚmWu {ÌH$ moUmZo d V~bmdmXZ

H$ aUmao {dÚmWu Mm¡H$ moZmZo XmIdbo AmhoV Va nwT> rb àíZm§Mr CËVao Úm.

à. {H$ Vr {dÚmÏ¶mªZm {MÌH$ bm AmdS>V Zmhr?

à.

à. H$ moUË¶mhr XmoZ H$ bm ¶oVmV Ago {dÚmWu {H$ Vr?

à. dm. {‘{ZQ> m§Zr KS>çmimMm Vmg H$ mQ> m d {‘{ZQ> H$ mQ> m ¶m§À¶mV {H$ Vr A§emMm H$ moZ hmoB©b?

Imbrb àíZm§V n{hë¶m nXmMm Xþgè¶m nXmer g§~§Y Amho. VgmM g§~§Y {Vgè¶m nXmMm Mm¡Ï¶m nXmer Amho.

Vmo g§~§Y AmoiIyZ Mm¡Wo nX n¶m©¶m§VyZ AMyH$ {ZdS> m.

à.

à.

Choose the correct option from the given alternatives.

B6C , D32H , E55K, F?M

76 78 72 74

P Q R S 5 S 6 R 18 Q 12 P 4

If P denotes , Q denotes , R denotes + and S denotes - then the value of 5 S 6 R 18 Q 12 P 4

when simplified gives.

36 53 59 65

In a following figure students from a circle who like Drawing, Singing and Tabla are shown respectively

by triangle and a square. Numbers written in different sections of diagram indicate the number of

students belonging to a particular. Observe the figure and answer the following questions.

How many students do not like Drawing?

46 59 73 43

13 14 16 18

How many students like only two arts?

43 45 42 44

3 36

What sill be the angle between the hour hand and the minute hand at 3:36 ?

120 110 108 90

There is a relationship between the first and second word or number. The same relationship is

between third and fourth word or number. Observe it carefully and choose the correct alternative from

the given options.

95 : 81 :: 78 : ?

61 63 81 83

PT : R :: ? : H

FJ IG IF GI

42

1. 2. 3. 4.

43

1. 2. 3. 4.

44

1. 2. 3. 4.

45

1. 2. 3. 4.

46

1. 2. 3. 4.

47

1. 2. 3. 4.

48

1. 2. 3. 4.

49

1. 2. 3. 4.

50

1. 2. 3. 4.

{H$ Vr {dÚmÏ¶mªZm {MÌH$ bm Am{U Jm¶Z AmdS>Vo na§Vw V~bm AmdS>V Zmhr?
How many students like Drawing and Singing but do not like Tabla?

0 0 0 0

*******
(Amnë¶m àíZn{ÌHo$ V àíZ Agë¶mZo ( ) CËVa n{ÌHo$ V àíZ H«$ ‘m§H$ Vo n¶ªVM CËVao Zm|XdmdrV.)50 OMR Answersheet 1 50

.drcvramanexam.in(¶m àíZn{ÌHo$ Mr CËVa gyMr 6/7 {XdgmV do~gmB©Q> da CnbãY hmoB©b)(Answer Key) www
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A
A

, B
D

, C
I

E
P

D
Y

D
P

E
Y

56V~bm
[Tabla]

Jm¶Z
[dance] {MÌH$ bm

[drawing]

15 3
14

241316
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